x (1+x) +x =8(1+x)
x’ (1+x) " +x : -8(1+x) =0
x (x+1)  +x : -8(x+1) " =0

(I ? (x+1) ! +x:)—3(1+1] : =0

(=3 (=7 +2x+1)+x *)-8(x+1) " =0

(x fr2xt+2x :)-S(x+1) 20
(= *+(2x ) (x+1)-8(x+1) =0
x (25 ) (x+1)-8(x+1) T =0
Mycts A=x  ;B=x+1
A*+2aB-8B =0

A 2AB+4AB-8B =0
(a?-2aB)+(4aB-8B)=0
(A-2B)A+(A-2B)(4B)=0
(A-2B)(A+4B)=0

(x " -2(x+1))(x * +4(x+1))=0
Cnyuain L.

x -2(x+1)=0

x -2x-2=0

D=b "’ -4ac=(-2) -4-1(-2)=12

2-24(3 24243
= =13 ;x =———=1+
2 21

1 2-1
Cnyuait 2.

x’ +4(x+1)=0

E



x +4x+4=0

D=b  -dac=d4 -4-1-4=0
b 4

x =—=——=2

1.2 22 2-1

OTeT: x=-2;x=1--/3 ;I=1+\J?




